Tk 304F K BT HEMEIE B A A AR (AR ) B AR BRI B AR AR I
KB ELETE Kt T At HERH KM O [k Sz Kk R o] 5w pORs] s A< Ak [RRR AR
e [mH SR AL REEE | OKIED (7J<?L%() UsK) Gk | GaKER) | GaKER) | GaKkER) | (RasKER)
- e 197 560 5 0.5 0 0 0 0.5 0
1 TSI " | EE] Iml100LLF [197 56 142.3 0.4 0 0 0 0 0 0
i 1 1 11 11 12 12 12 12 12 12
H T8 T8 33.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
EEVADN T Emisnsmozy<as 1.8 7.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Y 1 1 11 11 12 12 12 12 12 12
- 0.00037KT _ [0-0003A78 [0.0003 [0-0003A%i  [0.0003T |0.0003A1#% [0.00034< [0-00034< [0-0003Aim [0-0003 A |
W3 [ HRIT LR OZFDILA W mg/1]0.003L4 F 0.0003A%#  [0.0003%#  [0.000374#  [0.000374#  |0.0003744#  [0.00034 0.000374%  [0.000344  [0.00034  0.00034i
1 1 4 4 4 4 4 4
R 00000541 _|0-00005K7m |- 0.000057% _|0.00005K7m |- = = = =
4 KRB DL EY) mg/1[0.0005L F  [0.00005:4%# |0.000055% |- 0.000054 [0.000054% |- - - - -
1 1 - 4 4 - - - - -
- 0.001 7w [0.001 0.001 0.001 7w |0.001 0.001 0.001 0.001 0.001 0.001
5 | L R OZEDOILAEY o [me/1f0.018LF 0.0014%  0.001 0.001 0.0014%  0.001 0.00147  [0.0014  0.001 0.001 0.001
o 1 1 4 4 4 4 4 4 4 4
= - 0.000AKwm  [0-001 0.001 0.00T7m  [0-000AKT  [0.007m  |0.00TAqm  [0-001Ajd [0.001 0.000Km |
JL6 18 R OF LAY mg/1[0.01LLF 0.0014%  [0.001 0.001A4  [0.00147  |0.00U45  [0.00147  [0.00144  |0.00145  [0.00144  [0.001 A
1 1 11 11 4 4 4 4 4 4
- 0.00 k7w [0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
T e B R OEDLED mg/1]0.01LLF 0.00147#  [0.001 0.001 0.001 0.001 0.001 0.0014% (0001 0.0014%  [0.00147
1 1 4 4 4 4 4 4 4 4
K 0.005A  [0-005Am  [0-005Am  [0-0054%m  [0-005A%m  [0-00640m  |0.0054%m  [0-0054<m  [0-0064<m  |0.005K0m |
L8 [Afrab&t mg/1{0.05LL F 0.005A4%#  [0.005  |0.005A47H  [0.005A4%  [0.00544#  |0.00544#  [0.0054%4  [0.0054%  |0.005A47  [0.00544
1 1 4 4 4 4 4 4 4 4
- ~ 0.000Km  [0-000KT |- 0.00Km  [0-000KTH [~ - - - -
FE9 | AR RE S F mg/1]0.04L4F 0.0045%  [0.00445% |- 0.004A%  |0.0044% |- - - - -
1 1 - 4 4 - - - - -
N 4 X 0.00 K [0.00km |- = = 0.000 K [0-0001 T [0.00 K _ |0-00 K _ |0.00 i |
HA0[> T A A R OSEL T % mg/1/0.01 L4 F 0.0014358  |0.00145% |- - - 0.00148  [0.001%4  [0.0015i  [0.0015Ki  [0.00154
A 1 1 - - - 4 4 4 4 4
Y . 4 o s [ESEE e . € € € i i
FE11|RHEEREEE R K NN B2 3R g [me/1[1o T 1A 1A A 1A
1 1 - 4 4 - - - - -
N R 0.08 AT 0.08 AT - 0.10 0.10 = = = = =
H12[7 v K OZEOLEY mg/1]0.824 F 0.08K 0.08K - 0.0844 0.09 - - - - -
1 1 - 4 4 - - - - -
- % (NEST] (NEST] = (NEST] 0. TATm = - - - -
3R HE R RNED/EY [ mg/1|1.0LL 0. 1A 0. 1A - 0. 1A 0. 1A - - - - -
1 1 - 4 4 - - - - -
B R 0.0002A<71 . i K i . 1 . 1l . 1l . 1l . 1l . 1l . il
Fe14| UG bR mg/1[{0.002LLF 0.000241#  |0.0002A4#  [0.0002A#  [0.000277  |0.000240#  [0.00024i#  [0.00024i#  [0.000247#  [0.000277  [0.000241i
1 1 4 4 4 4
- 0.0065KT  [0-0058m |- 0.0065Km  [0-005RTH |- - - - -
15|11, 4—TAFHP mg/1[0.0524 F 0.00547  [0.005Kd |- 0.00547  [0.0054Kw [~ - - - -
— 1 1 - 4 4 - - - - -
- i - 0.00400  |0.004A0m  [0-004AK7m  [0.004A7m 0. T ; W |0-000KT%  |0.004KTw  [0.004KTw  [0.004AKTm
16| (%, FFrR) —1, 2V 7Tl %ﬁ mg/1{0.04LLF 0.0044%#  |0.0044%  |0.00447i  [0.00447  [0.0044%  [0.004A44  [0.00447  0.00447  |0.00447  |0.004Ai
1 1 4 4 4 4 4 4 4 4
N e 0.002HK7%  [0-002A<(  [0.002K7%  [0-002A<i#  [0.0020m  [0.0020  [0.0020% 00024  |0-0024<im  [0-002Aim
P Sl P4=1=5 % 4 i mg/1/0.02L4 F 0.0027%  |0.0024%#  [0.002  [0.0027%  |0.00244#  |0.00244#  |0.00244H  [0.00247%  [0.00247  [0.00277i
1 1 4 4 4 4 4 4 4
— == - 0.00  [0.0004%  [0-00Am  [0-00Am  |0.0014qm%  |0- W |0-000K{s  [0.00Kw  [0.00 KT [0.00 AT
187 rTFrmneFL ) mg/1[0.01L4F 0.001A  |0.00LA#  [0.0014  [0.0017  |0.0014#  |0.00140#  |0.00140  [0.00147  [0.0014K7  [0.00147
1 1 4 4 4 4 4 4 4 4
[y 0.00Km  [0-0014<m  [0.00LATm  [0.00Lm  [0.001A<  [0.001Aw  [0.00LA7m  |0.001fm  [0.001Am  [0-001Am
JL19(Nymn=FL v mg/1[0.0124F 0.0014w  [0.0014w  [0.001A4w  [0.001A4w  [0.001A44w  [0.0014  |0.00144%  [0.001A45w  [0.0014 00014
1 1 4 4 4 4 4 4 4 4
R X 0.000RT  [0-00 Kt [0.-00AKim  [0-00 4w [0.00Adm  [0- T [0.000Kim  [0-00AKTw  [0-001Km  [0.00 A
20|~ mg/1[0.01L4F 0.001A  |0.00LA#  [0.0014  [0.0017  |0.0014i#  |0.00140  |0.0014(  [0.00147  [0.00147  [0.00147
1 1 4 4 4 4 4 4 4 4
0.06 1 0.06 K = = = 0.08 0.12 0.08 0.08 0.08
o1 | FEmE mg/1{0.6LLF 0.064it 0.064it - - - 0.0644it 0.0644it 0.0643it 0.0643it 0.0643i
1 1 - - - 4 4 4 4 4
_ = = = = = 000270 |0.00247m _ |0.002A7m  [0-0027m _ |0-002A7m%
F22|ranpkg mg/1[0.02L4 - - - - - 0.0027%%  [0.0027  [0.00255  [0.0025K  [0.0025K0%
- - - 4 4 4 4 4
= = = 0.015 0,006 [0.006Tm  [0.015 0.007 0.007 0.006 K 1
B k| A=1=0i Y I mg/1]0.06 L4 F - - - 0.011 0.00644  [0.0064  0.008 0.006547%  [0.0064%  0.006:K
- - - 4 4 4 4 4 4 4
N o = = = = = 0.003KTw  [0-003AKm  [0.003Kim _ [0-003 0-003 71
24| v raopEik mg/1[0.03LL T - - - - - 0.0037%  [0.003  [0.003%  [0.0034  [0.0035K0
- - - - - 4 4 4 4 4
R i = = = 0.0 R 0.01 0.01 0.01 0.01 0.01 0.01
os|oTuE rmm Az 0 |mg/10. 184 - - - 0.0 1A 0.01 0.01 0.01 0.01 0.01 0.01
3 - - - 4 4 4 4 4 4 4
N &l = = = = = 0.002 0.001 0.002 0.003 0.002
26| R HE R mg/1]0.01LLF - - - - - 0.002 0.001 0.002 0.002 0.002
4 - - - - - 1 1 4 4 4
59 = = = 0.02 0.02 0.02 0.03 0.03 0.03 0.02
HoTlaR N AZ o mg/1{0.1ELF - - - 0.01 0.01 0.02 0.02 0.02 0.02 0.02
- - - 4 4 4 4 4 4 4
_ = = = = = 0.003K7m _ |0.004 0.003K7m _ |0.0037%  [0.003A1m
F28| Nk mg/1]0.03LLF - - - - - 0.00344  [0.00374%  |0.003K4  [0.0034  [0.00374
- - - - - 4 4 4 4 4
- - = = = 0.005 0.005 0.007 0.000 0.000 0.000 0.007
B ole| A=t/ dui= mg/1/0.03L4 T - - - 0.00344  [0.00344  [0.005 o 006 0.004 0.007 0.004
- - - 4 4 4 4 4 4 4
N = = = 0.009Ki%  [0-000RT  [0.009K%  [0.000Ac  [0-000Aid  [0.009AT%  [0.000AMm |
JE30[7 mE'RIL L mg/1]0.0924 T - - - 0.0094%  [0.0094%  [0.0094%  |0.00944%  [0.0094%  [0.0094% 000944
- - - 4 4 4 4 4 4 4
- = = 0.008 KT |0-008w  |0.008%m  |0-008KTw  |0-008Kwm
JE31AN LT VTR mg/1[0.08LL T - - - - - o 008} o 0085 [0.008  0.0087% 0008
- - - - - 4 4 4 4
X 0. 1RTm 0. Rm 0. Rm 0. A 0. A o,l*‘m 0. 1R Tm 0. 1K Tm [RESTH 0. 1RTm
H32| Mg O E DAY mg/1{1.0BAF 0. 1A 0. 1A 0. 1A 0. 14 0. 14 0. 14 0. 14 0. 1A 0. 1A 0. 1A
1 1 4 4 4 4 4 4 4 4
0.17 0.33 342 0.06 0.02 0.05 0.05 0.02 0.03 0.03
FE33[TNI=Y AR OZEDILAEY % mg/1|0.2LLF 0.14 0.33 0.79 0.03 0.0245%  [0.02 0.02 0.027%0  [0.020  |0.0254
65 1 1 11 11 4 4 4 4 4 4
- & 0.05 0.30 T.27 0.03 K1 0.03 0.03 0.03 0.03 T 0.03 T (EEST]
34|18k O DAY mg/1]0.32L 0.05 0.39 0.34 0.03ii 0.0343i 0.0343i 0.0343i 0.0343i 0.0347i 0.0347i
1 1 11 11 4 4 4 4 4 4
- - 0. R (BT (BRI (BRI (BRI (ERT] (BRI 0.1 0. R 0. R
JL35|8i e O FE DAL AW mg/1|1.0LL 0. 1A 0. 1A 0. 1A 0. 1A 0. 1A 0. 1A o JEST 0. 1A 0. 1A 0. 1A
1 1 11 11 4 4 4 4 4 4
I [RX] [RX] 2.0 5.7 70.9 70.5 71.6 70.9 71.8 77.8
36| T AR DEDILEY o mg/1[200LL T 12.4 12.4 10.7 13.7 18.4 17.3 17.4 17.2 175 19.1
1 1 4 4 4 4 4 4 4 4
- X 0.008 0.025 0.087 0.005KT  [0-0050KT  [0-006kwm  [0-005m  [0-005KT  |0-0065km  |0-005K
37|~ H R OEDILEY) £, |mg/1]0.05L4 F 0.008 0.025 0.020 0.0054%  [0.0054%  [0.0054i o 00544 [0.0054  0.0054%  |0.00554
1 1 11 11 4 4 4 4 4
- T2 32 51 26 85 85 159 83 9.2 83
H38(Hi A mg/1|200LL F 7.2 3.2 5.2 10.7 15.1 13.7 12.6 15.0 15.4 15.4
1 1 11 11 12 12 12 12 12 12
8 50 37 71 ) 52 9 50 7 8 50
FE39 N TN =T R N (T E) ? mg/1|300LL T 60 32 48.3 54.8 46.0 44.3 49.5 40.3 44.5 43.3
1 1 11 11 4 4 4 4 4 4
N N 128 50 150 125 96 76 97 T00 110 79
Jeq0|EIE Y mg/1|500LL F 128 90 105.0 90.8 87.8 80.0 79.0 84.3 90.8 81.3
1 1 11 11 4 4 4 4 4 4




% (PER] 0,007 = 0,007 0,007 = = =
FLAT|BEA A FETE PEA oo |mg/110.284F 0.0254it 0.024iti - 0.025Aiti 0.0244 |- - -
Jal
1 1 - 4 4 - - -
X § 0.000002 0.000002 = = = 0.00000 T 773 0.00000 LA | [0.00000 LA<Tim |
Haol A3 7> |mg/1]0.00001LL F  [0.000001 0.000001 - - - 0.000001 7] 0.000001 A 0.000001 A3
. 4 4 - - - 4 4 4 4
SN o 0.000002 0.00000 [ 0.00000 17775 000000 177 [0.00000 177 |
FA3|2— AF IVA VRN XA — 5 mg/10.00001LL F 3.000002 g.ooooouﬂm - - - g.ooooour;m g.ooooowm g.ooooowm
- N ER 0.0027% |0-002KTH 0.002FK  [0-002KTH [~ - -
Feaq)FeA A FURTEMER v mg/1[0.02LL T 0.0024%%  [0.00244% |- 0.0024%%  [0.0024% |- - -
1 1 - 4 4 - - -
3] 0.0005 K% [0.000507% |- 0.0005K7%  [0.000507% |- =
JL45(7 =/ — N mg/1/0.005LL F 0.00054%#  |0.00054K4 |- 0.00054%#  |0.00054K |- - -
1 1 - 4 4 - - -
- - - [ T7 73 = = = 0.9 T0 0.8
HA6| H Y (AKX (TOC) D &) o mg/1|3LLF }.7 %.2 - - - (1)1.27 (1)1.28 (1):27
1T 796 860 768 T80 797 787 787
JL47\pHAE 5.8~8.6 9.11 7.96 7.42 7.30 7.60 7.78 7.62 7.72
1 1 223 223 243 12 12 12
R R - - - FLHTEL FLHTEL FLHTEL FLHTEL FLHIEL
Ja8|ne BTN IY- - - BT sl |RmERL |RERL I
- - - 223 243 12 12 12
5 5 5 TR0 7T TR0 7T TERIRC
JL49| A BRG] R 5 5L STRL STRL SETRL SETRL STRL
1 1 223 223 243 12 12 12
- 79 72.0 70.1 0.8 0.7 0.5 0.5 0.5
50| )E B |5LT 2.9 22.0 10.3 0.5 0.5 054 054 0.5
1 1 223 223 243 12 12 12
- - PR 0.6 AR (WES} (WEST} (RES} (RES} (REST I
JL51 | E £ [2LLF 2.1 10.6 4.6 0.2A 0.2 0.2 0.2A 0.2
1 1 223 223 243 12 12 12




R 304 FE /K BT P B e 2 I At R (AR D)

KA B AR R i

B AR A

LB R

KB PR H B SE I H Kt T At HERH KM O [k Sz Kk R o] 5w pORs] s A< Ak [RRR AR
e [mH LA | A OKIE) OKIE) UsK) Gk | GaKkER) | GaZKER) | GRaZKER) | (RaVKER)
0.002m% _ [0.002AKMm |- 0.002%  [0.002Km | - - - -
B1 |7 FEr KOEDILEY mg/1]0.02L4F 0.0025  |o.0025ki% |- 0.0025%  |o.0025ki% |- - - - -
1 1 - 1 1 - - - - -
R —_[0-0002KW [0.0002HKm |- 0.000247 _ [0.00024m |- = = = =
B2 |vTr K OZDILEY mg/1{0.002L1 F (1 5i) ?.ooom’m ?.ooozxm - (1).0002*;-@ (1).0002*;-@ - - - - -
0.002K  [0-002KT |- 0.002K  [0-002KTH [~ - - - -
B3 =y kO EDibE Y mg/1]0.02LLF 0.002Ri  [0.0024 |- 0.002A4# 000248 |- - - - -
1 1 - 1 1 - - - - -
EPR IS
) 0.0001KT  [0-0004A7%  [0.0004Tw 0-0004A7 [0.0004 T [0.0004A1 0-0004A [0-0004A [0-0004A7m [0-0004AKm |
A5(1, 2—Y7npxiy mg/1/0.004L4 0.00044#  |0.0004A4#  0.0004A#  [0.00044%7 |0.00044%4#  [0.000444# [0.000445  [0.000447  [0.000447w  [0.0004475
1 1 4 4 4 4 4 4 4 4
H6 |HIkR
A7 [HiIkx
R 0.01R T 0.01R T 0.01R T 0.01R T 0.01R T 0.01R T 0.01R T 0.01A T 0.01H T [(EZEST
H8 M=y mg/1]0.4L4F (1).04*“«% (1).04*“«% (1).04*“«% (4).04*"«'% (4).04*"«'% (4).04*"«'% (4).04*"«'% (4)04*‘1% (4)04*‘1% (4)04*‘1%
- 0.008Tm  |0.008Km |- 0.0080m  |0.008 8w |- = = = =
HO |70V (2—ZF L~FiL) mg/1|0.08LLF 0.008K#  [0.0084i |- 0.008%#  |0.008AKTH |- - - - -
1 1 - 1 1 - - - - -
H 10| MG Rk mg/1[0.684 T AL TORNZD | A I
ERBY IS
H 12| “Ee bR mg/1[0.684 T AL TORNZD | A I
- —_|000TK  [0.00TRmw |- 0.00Km  [0-000KT [~ - - - -
ERE| P4=i=v e =N Y% mg/1[0.01 L F (& Ef0.00 A4 |0.001Kw |- 0.0014  |0.00LAd |- - - - -
1 1 - 1 1 - - - - -
_ I [ R B R 0.002A5m  [0.002 = = = = =
H 14|k raZ— mg/1[{0.02LL F (B & ?,oozﬁﬁ ?,oozﬁﬁ - (]),002*‘&% (]),002 - - - - -
0. 0. = (NESG] (NESG] = - - - -
ERE s ] 1L T 0. 14 0. 147 - 0. 14 0.1 - - - - -
1 1 - 1 4 - - - - -
= = = 0.9 0.8 0.6 05 0.7 05 0.7
H 16| EE mg/1|1LLF - - - 0.7 0.7 0.5 0.5 0.6 0.4 0.6
- - - 223 243 12 12 12 12 12
. 0 32 T 7 52 19 0 7 8 50
A17\ BT I, <~ Ry 5 () mg/1[10~100 60 32 48.3 54.8 46.0 44.3 19.5 40.3 44.5 43.3
1 1 11 11 4 4 4 4 4 4
- 0.008 0.025 0.081 0.001 0.002 0.003 0.002 0.003 0.003 0.003
H18|=r W R OFDILEY mg/1]0.01LLF 0.008 0.025 0.020 0.0015%  0.001 0.002 0.001 0.002 0.002 0.002
1 1 1l 1l 4 4 4 4 4 4
— 0 35 79 7.6 35 76 35 B T8 T8
H 19| 3z e i e mg/1{20LL 0 3.5 6.4 2.4 2.2 2.0 2.9 2.0 1.8 1.8
1 1 4 4 4 4 4 4 4 4
- 0.03 AT 0.03 AT 0.03 AT [REST [REST [REST [REST 0.03 AT (QOREST] 0.03 T
H20|1, 1, 1—K)Zmraxi mg/1{0.3L4 F (]>,037k'v’%ﬁ (]>,037k'v’%ﬁ 2037&‘«?& 203*’1‘% 203*’1‘% 203*’1‘% 203*’1‘% 203*‘«% 203*}% 203*}%
N 0.0027% _ [0-002Km |- 0.002% _ [0.002KTm |- = - - -
H21|AF NV —t—7 FL—7 /L (MTE mg/1[0.0224 F ?.oozaaﬁ ?.oozaaﬁ - ?.ooz;ﬁa?ﬁ ?,Oozﬂ%aﬁ - - - - -
- — - 15 T3 (8 7.2 T 75 7.2 T T3 T
H 22|~ A iy A mg/1|3LLF 1.5 7.3 5.5 1.6 1.3 1.6 1.7 1.3 1.2 1.2
1 1 11 11 4 4 4 4 4 4
- T T 3 T T T T T T T
H 23| R&58EE (TON) LT 4 4 3 1 1 1 1 1 1 1
1 1 4 4 4 4 4 4 4 4
128 50 150 125 96 96 97 T00 TT0 79
H 24| %W mg/1[30~200 128 90 105.0 90.8 87.8 80.0 79.0 84.3 90.8 84.3
1 1 11 11 4 4 4 4 4 4
71 10.6 711 0.1 0.1 (BEST (BEST (BES (BES (BES
H 25| = BT 2.1 10.6 4.6 0. 1Al 0. 1At 0. 1At 0. 1At 0. 1Al 0. 1Al 0. 1Al
1 1 223 223 243 12 12 2 12 12
91T 796 5.60 7.68 7.30 797 787 732 5.08 737
H 26|pH{E 758 9.11 7.96 7.42 7.30 7.60 7.78 7.62 7.73 7.82 7.72
1 1 223 223 243 12 12 12 12 12
- T0 =05 0.7 =08 0.6 =05 =05 =041 0.0 =05
H27|@& &t (Fo 7 U T4 -1~0 1.0 0.6 0.9 0.9 -0.8 0.6 0.7 0.6 0.5 0.7
1 1 4 4 4 4 4 4 4 4
7 |300 150 778 3 T 7 05 5 T0 05
H 28|18 e A i ] 1”11?3900“ 300 150 468.3 L1 1.6 1.0 0.1 0.8 3.0 0.1
TCEE) 1 1 4 4 4 4 4 4 1 4
- 0.0 KT 0.0 KT 0.0 KT 0.0 R 0.0 R 0.0 R 0.0 R 0.0 0.0 R 0.0 R
H29|1, 1—-Y7muxFL v mg/10.1LA T 0.0 147 0.0 1A i 0.0 1A 0.01 At 0.01 At 0.01 At 0.01 At 0.0 1475 0.0 147 0.01 A
1 1 4 4 4 4 4 4 4 4
0.14 0.33 B2 0.06 0.02 0.05 0.05 0.02 0.03 0.03
H30[7 W=7 LK O DILE W mg/1{0.12AF 0.14 0.33 0.79 0.03 0.01 0.03 0.03 0.01 0.01 0.02
1 1 11 11 4 4 4 4 4 4
ZOMIER Kt Fiifrih ERH ok O [k sk Rt bl = weeh bR e mriErcRsl A<k [RRRTRER
mH AL OKIE) OKiE) Uit k) Giakie) | Giaskde) | Gaskke) | Gaskke) | (Gaskie)
30.7 29.7 28.5 788 786 26.8 6.2 30.1 3.7 30.0
KR C 30.7 29.7 17.5 17.8 18.6 17.2 21.5 20.0 20.2 19.1
1 1 223 223 243 12 12 12 12 12
370 780 110 12.0 0.0 130 120 6.0 5.0 3.0
WT N EE mg/1 37.0 28.0 30.9 33.7 39.0 36.5 38.8 40.8 38.8 40.0
1 1 49 49 4 4 4 4 4 4
0.0 70 10.0 7.0 70 0 70 3.0 7.0 7.0
PN mg/1 0.0 4.0 6.6 2.9 2.5 2.3 2.3 2.3 2.0 2.0
1 1 11 11 4 4 4 4 4 4
- . = = 7 BET |- = = = = =
VT NARY DT 2 (1oLH) - - 2.4 f{ﬁm@—r - - - - - -
. - - 1.07&?\&:} l.O?k"ﬂM - - - - - -
IR—=T ) ag s B AR R (PROS)|ng/1 - - }.OK‘(ﬁ }.omﬁ - - - - - -
- = = V) T7 = = = = = =
IR=T a2 W (PFOA) ng/1 - - L2 47 - - - - - -

Dy AR TR L AT R T



